
survival Probability in a Poisson
field of moving traps .
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(t-q) is the prob that X survives upto time n.
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where roch) denotes the survival prob of the trajectory that

remains at 0 indefinitely .



Overview of the Proof
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Lemma 1 : let X : INV {03 →Id, XCO) -O . Txcn) = exp E-XFyfzdwxcn.gs}

where wxcn.gg = EyY[ i - c,-qj.IE#E4lD--XCD31 .

w×Cmy) = The prob that X gets captured by a trap Y starting at

YEZD in the first n steps with the average taken over all the

realizations of Y .
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Define a stopping time to be when a walk X gets captured by 4 .
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2 . Trap at Y is open . {Zi =L} = trap Y is open at time i

{21--0} = u dosed u
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Pj tcxfn) is the prob that X has been captured by Y by time n .

Lemma 2.I Wxcniy) = Pyt (Ext n)
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Let's look at q , the trapping probability.
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(1) → q=y¥z,d Py' Caen) tyez.dz?oPytCex=k3xpn-rLxcn3-xceDxq

(2) → q=yIz,d Python)t¥z,d÷oPyGo=k3pn-I Coq

Lemma 2.2 : PHY) E PICO) V-n.gr
-

punks Epico)

µ using CD
, CD , lemma 2.2

y¥zdPyIexEn) ⇒ y¥zd Python) .

a


